> A
A & 0l & AF 2 E A A
2N SR
HH: DFE ML
S dzel (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
E 58,844,897 58,438,848 406,049
= 132,810 132,810 0
= 100,000 0 100,000
= 97,103 70,521 26,582
= 58,514,984 58,235,517 279,467
88 dH2el 1,186,363 1,187,735 A1,372
< 11,372 11,830 A 458
[ia 1,174,991 1,175,905 A914
S 2e 1,186,363 1,187,735 A1,372
< 11,372 11,830 A 458
s 1,174,991 1,175,905 A914
M7z A= sA AEEA 1,186,363 1,187,735 A1,372
< 11,372 11,830 A 458
[ia 1,174,991 1,175,905 A914
201 2et2d]| 20,118 21,490 A1,372
=) 6,705 7,163 A 458
s 13,413 14,327 2914
01 At 2teltl 19,953 21,020 21,067
o dHYER FX = 23 9,252,200 9,253 10,320 AT1,067
=) 3,083 3,440 A 357
= 6,170 6,880 AT10
02 =224l 165 470 A 305
o HAad 2EE Z & 164,830 165 470 A 305
< 55 156 A 101
s 110 314 A 204
ANy A 25t 3,960,940 3,905,500 55,440
= 68,260 43,220 25,040
s 3,892,680 3,862,280 30,400
=Jts M X& 1,316,350 1,312,950 3,400
org 2el 1,112,320 1,108,920 3,400
307 glz2+ol & 60,120 56,720 3,400
04 QIZFHALAIH E = 18,000 14,600 3,400
o OlEHE sits M=sUz
Z & 18,000,000& 18,000 14,600 3,400
WAHA B H 46,760 45,720 1,040
=) 43,760 42,720 1,040
e 3,000 3,000 0
5.18 BI=S 3 X MdAHl XA 19,760 18,720 1,040
< 19,760 18,720 1,040
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< 24,500 500 24,000
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= 24,000 17,000 7,000
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301 et A=z 6,000 2,000 4,000
09 AL HIE &= 4,000 0 4,000
o FUNXME LES L HBHAS LEX
A2 4 8,000& = 500 4,000 0 4,000
FUXNXHEH Sdatzzd 29 40,000 0 40,000
S 20,000 0 20,000
[ia 20,000 0 20,000
307 glztol & 40,000 0 40,000
S 20,000 0 20,000
[ia 20,000 0 20,000
02 (It HAMAEE 40,000 0 40,000
o FOURAME SHAZ2IY 2 (VA
s3HH) 20,000,000& * 20H 2 40,000 0 40,000
< 20,000 0 20,000
s 20,000 0 20,000
DIS3sSH 2SI |4 4,000 0 4,000
= 4,000 0 4,000
307 glztol & 4,000 0 4,000
= 4,000 0 4,000
02 It HAMAEE 4,000 0 4,000
o ME DISUSI SR(HALYH)
4,000,000& * 1JHA 4,000 0 4,000
< 4,000 0 4,000
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207 A O Y| 141,240 149,240 28,000
02 & AR Y] 141,240 149,240 A8,000
o OHAHO EEAAE 2H 23 o0& 0 30,000 A 30,000
o MIIHSHE ¢ BYSS =
22,000,000 * 14 22,000 0 22,000
HHHEG =X 100,958 84,992 15,966
T 2,000 0 2,000
= 98,958 84,992 13,966
201 LEt2 9| 88,838 74,872 13,966
01 At 22| bl 49,724 36,724 13,000
o HHAIR ATEYN 7
348 250,000& * 13274 33,000 20,000 13,000
02 33224l 39,114 38,148 966
<BSLZLHAM > 0 0 0
o ENES RERS 39,114 38,148 966
- SJseH 33 2,130& * 1,050H = 12& 26,838 25,872 966
303 ZA 2 2,000 0 2,000
= 2,000 0 2,000
01 Z&= 2,000 0 2,000
o Mol #NMNES ARDN LHME =2
a3 2,000,000& 2,000 0 2,000
= 2,000 0 2,000
L MAEY WA 292,100 167,500 124,600
405 KHAHF SHI 292,100 167,500 124,600
01 &ML 2 SFHSHI 292,100 167,500 124,600
o HHALRE PC 24X 7
a8 1,000,000& = 200CH 200,000 100,000 100,000
o HHALRE DLUIEH 7
2 & 300,000& = 150CH 45,000 30,000 15,000
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a8 1,600,000& = 1104 17,600 8,000 9,600
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S 100,000 0 100,000
= 11,571 11,571 0
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T 2,100 2,100 0
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02 B AAMHE X 17,843 17,593 250
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22,500,000 22,500 0 22,500
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= 100,000 0 100,000
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201 e gy 21,753 0 21,753
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< et > 0 0 0
o OHMIHOIAIAE HAEHE P
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o NRES 7Y 4,453,000& 4,453 0 4,453
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